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T03-FM101 TIME EVOLUTION [Reference=CERN060726] summary (all channels)
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[T03-FM101 Test 0]

[CERN060726] 060727081815_FM101_calu_pedestals_ci.csv [ 24.1C]

[CERN060905] 060905180917_FM101_calu_pedestals_ci.csv [ 25.1C]

[GSI061117] 061117100533_FM101_calu_pedestals_ci.csv [ 24.4C]
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T03-FM101 TIME EVOLUTION [Reference=CERN060726] for Pedestal Position [Gain index 5, LEX8]
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T03-FM101 TIME EVOLUTION [Reference=CERNO060726] for Pedestal Position [Gain index 5, LEX1]
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T03-FM101 TIME EVOLUTION [Reference=CERN060726] for Pedestal Position [Gain index 5, HEX8]
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T03-FM101 TIME EVOLUTION [Reference=CERN060726] for Pedestal Position [Gain index 5, HEX1]
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T03-FM101 TIME EVOLUTION [Reference=CERNO060726] statistics for Pedestal Position [Gain index 5]
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CERNO060726] for Pedestal FWHM [Gain index 5, LEX8]

T03-FM101 TIME EVOLUTION [Reference
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CERNO060726] for Pedestal FWHM [Gain index 5, LEX1]

T03-FM101 TIME EVOLUTION [Reference
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CERNO060726] for Pedestal FWHM [Gain index 5, HEX8]
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CERNO060726] for Pedestal FWHM [Gain index 5, HEX1]

T03-FM101 TIME EVOLUTION [Reference
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T03-FM101 TIME EVOLUTION [Reference=CERN060726] statistics for Pedestal FWHM [Gain index 5]
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[TO3-FM101 Test 0]

[CERN060726] 060727081815_FM101_calu_pedestals_ci.csv [ 24.1C]




T03-FM101 CERN060726 Pedestal Position [Gain index 5]

.......

....................................................................

oLEX8

oLEX1
HEX8

oHEX1

7

6

1L
bt '5'(')6"6‘5‘5“"‘76‘]““‘6‘6‘5“"5‘5‘5“‘13

=LEX8

=LEX1
HEX8

~HEX1

P Y I P N A
Op~—100"""500 300 00
Channel ADC units
: oLEX8| 5 —LEXS
_________________________________________________________________ oLEX1 _LEX1
HEX8 HEX8
____________________________________________________________________ —HEX1

1111 I 1111 I 1111 I 1111 I 111 | I 111 | I 1111 I 1111 I 1111 I 11 Lk I Ll L I (Il TR I Ll Ll I el I T
00 10 15 20 25 30 35 40 00 100 200 300 400 500 600 700 800 900 1000
1000 Channel ADC units
2 ; . [eLEX8] g _ ~LEX8
900 X- S S S U SO oLEX1 C -LEX1
3 L . : HEX8| [ HEX8
2 BOOE—-+-o-ioreseedronninnibin i e oHlEX1 5F =HEX1
ZOOE- - iereeeaieains RTINS T ...... o % e .. C
71]1] I U ' ----------- oo i ..'. ------------- o i 4 - I
: sb |
2 :— (
1= j
o:...l..l-..l...-l.l....l... el
100 200 300 400 500 00
1000 Channel ADC units
2 T [sLEX8] g _ —[EX8
900 Y- ___________________________________________________________________ oLEX1 _LEX1
:. HEX8 HEX8
= 7 —HEX1

Channel

ol
100

A I AT
200 300

A A N
400 500 600

700

800 900 1000

ADC units



T03-FM101 CERN060726 Pedestal FWHM [Gain index 5]
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[TO3-FM101 Test 0]

[CERN060905] 060905180917_FM101_calu_pedestals_ci.csv [ 25.1C]
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T03-FM101 CERN060905 Pedestal FWHM [Gain index 5]
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[TO3-FM101 Test 0]

[GSI061117] 061117100533_FM101_calu_pedestals_ci.csv [ 24.4C]
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T03-FM101 GSI061117 Pedestal FWHM [Gain index 5]
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[TO3-FM101 Test 1]

[CERN060726] 060727083623_FM101_calf_mu_trend.csv [ 25.4C]

[CERN060905] 060905193642 _FM101_calf_mu_trend.csv [ 26.1C]

[GSI061117] 061117102339_FM101_calf_mu_trend.csv [ 25.1C]




oW T03-FM101 TIME EVOLUTION [Reference=CERN060726] for LE+/LE- [Gain index 5]
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T03-FM101 TIME EVOLUTION [Reference=CERN060726] statistics for LE+/LE- [Gain index 5]
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oW T03-FM101 TIME EVOLUTION [Reference=CERN060726] for LE+/HE+ [Gain index 5]
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T03-FM101 TIME EVOLUTION [Reference=CERN060726] statistics for LE+/HE+ [Gain index 5]
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T03-FM101 TIME EVOLUTION [Reference=CERN060726] for LE-/HE- [Gain index 5]
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T03-FM101 TIME EVOLUTION [Reference=CERN060726] statistics for LE-/HE- [Gain index 5]
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[TO3-FM101 Test 1]

[CERN060726] 060727083623 _FM101_calf_mu_trend.csv [ 25.4C]
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T03-FM101 CERN060726 LE+/HE+ [Gain index 5]
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T03-FM101 CERN060726 LE-/HE- [Gain index 5]
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[TO3-FM101 Test 1]

[CERN060905] 060905193642 _FM101_calf_mu_trend.csv [ 26.1C]
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T03-FM101 CERN060905 LE+/HE+ [Gain index 5]
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diode ratio

diode ratio

12

6.5
10

oo‘i' ¢ q ;oo :
5[ P L SRR SRRRLREE AR ARRaRIERIIRRRLERY P oo

] S A

P AP I VS IS P S P PP DU PN () s S R

il

10 15 20 25 30 35 40 45
7 Channel

4.5 o

5.5

L
diode ratio

A% S T R B A R

------ s T e e S o BT,

10

o
a
o T T T

($)]
|IIII|IIII|

||||i||||i||||i||||i||||i||||i||||i||||i||||i|| —t
4 5 0

o

Channel

10 45 20 25 30 35 40 45 4 2.5 5

ol
6.5 7

diode ratio




[TO3-FM101 Test 1]

[GSI061117] 061117102339_FM101_calf_mu_trend.csv [ 25.1C]
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[TO3-FM101 Test 2]

[CERN060726] 060727083702_FM101_calf_shp_pO01.csv [ 25.4C]

[CERN060905] 060905193717_FM101_calf_shp_p01.csv [ 26.1C]

[GSI061117] 061117102408_FM101_calf_shp_p01.csv [ 25.2C]
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T03-FM101 TIME EVOLUTION [Reference=CERNO060726] statistics for TACK Delay [Gain index 5]
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[TO3-FM101 Test 2]
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[TO3-FM101 Test 2]

[GSI061117] 061117102408 _FM101_calf_shp_p01.csv [ 25.2C]
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T03-FM101 TIME EVOLUTION [Reference=CERN060726] statistics for HHGHEST Relative Gain [Gain index 5]
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[TO3-FM101 Test 3]

[CERN060726] 060727082323 FM101_calf_gain_p01.csv [ 25.1C]
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[TO3-FM101 Test 3]

[CERN060905] 060905181433_FM101_calf_gain_p01.csv [ 25.7C]
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[TO3-FM101 Test 3]

[GSI061117] 061117101044_FM101_calf_gain_pO01.csv [ 25.1C]
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T03-FM101 GSI061117 HIGHEST Relative Gain [Gain index 5]
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